ﬁﬂ,
GS/ZOO 2008 Series

G ROUP-T

GENERAL STUDIES SR
Paper 1
(English & Telugu Versions)
Time : 150 Minutes Max. Marks : 150
Bibasiy ; 150 dDkwer Sugfo Sreyev 1 150

INSTRUCTIONS (Jg#5wes)

Please check the Test Booklet and ensure that it contains all the questions. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.

G5 HEwd’ oy (B én@oéeséléss B SrSFonsd. (%) HSES o, Shreen
ﬁ)@izﬁnt‘iﬁ' o :}Qm @émﬁlﬁs [ Q‘Eééméi I5ErID Zood SRFIETH.

The Test Booklet contains 150 questions. Each question carries one mark.

(%) HESERS® 160 (Hhesdd. 2838, [PHS a8 Sy, B owoBnddn.
The Question Paper is set in English and translated into Telugu\ language. The English version
will be considered as the authentic version for valuation purpose.
(Bifyd( S gofitpd® SoirdrSohed Smih grhsts Sdir Tobdds. Hiarged S|Edn ararg
Souddt mofitn [SHbEdn (SEratinm SREbnii.
The Test Booklet is printed in four (4) Series, viz. @‘ . The Series, or or or
is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series orEoror@in Part C on side 2 of the Answer Sheet by darkening the
appropriate circle with HB Pencil.
B S Trostd HESwes® (Series) odm D] $gswod® to@osudia. &
sgswed A mo [B] mo [€] md D] md 34 ssdn on 558 Bd La3Y Brod®
“n@odndin. DEOYS (4 B(EEn o) Dy (Series) g [B] m [C] oo D] o0
SDargrd H|ddw Bodd 3 f C Do w08 hhn Sironobndd Hydind 5.0 bz)ae?é‘f
Som &8 osHS. '

Example to fill up the Booklet Series

If your Test Booklet Series is A, please fill as shown below:

®®0O©O0

If you have not marked the Test Booklet Series at Part C of side 2 of the Answer
Sheet or marked in a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.

b (B4) SEss ol SgSe (Series) SSrgS SESn INegHs L C &
oo EPonT BE HHGoDS SPbx (S5 SESw pySIur BevbE & DT isdnisso
>0 EDom sy wiusodd @) Soddysned’, W Sodods S5 ard FobHom S
Srems SESn S08D0saiss (invalidated). B899 %000 HdwSodd dYSSdIBoes
23808232809).
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(2) : GS/

Fach question is followed by 4 answer choices. Qf these, you have to select one correct answer
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more 1
one circle is darkened, the answer will not be valued at all, Use HB pencil to make heavy b
marks to fill the circle completely. Make no other stray marks.

B8 (D)8 srenth Sdrmeedine 22D othd® HouhH aarws HKED Dhrged Bl
(B85 Seronodadld Sydhud Sgm &8 DodhBd. 2¥ ordon SEnd Hydinoln Jod
o Gdreedin HORDOBYES. HyStud ram b g odnss 5.0, DS FEh
@HEHED) Hhes DeTeE.

¢.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
Gor ;1 |DEYOBEY (Edomg 1 & =aren (2) wowddypd oA & (Bod DeSwne Ao osHBu

[o]e]o]e)

Mark Paper Code and Roll No. as given in the Hall Ticket with HB pencil by darke
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will le:
invalidation of your Answer Sheet,

&S GBES 'acbsz)ffaié B 0dd GweEy 5 Bondnd Dbk N &S doadh Birerd D
G, DoddBHd g A Hod Wi PANSE BOgHD Sygimos’ om Hhe HhodE
sHoudinme Booe 8% %) a0h Jobsdonsr BErEed H|Shn SOROoSBEL.

Example : 1f the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
Sodm ¢ HhE &5 027 LboXy &S So. 95640376 wondS (Bod Srbd Agdwm Doh

Paper Code Roll No.

206 E°8 5°S 3o.

ofz2]7 ss5|e|afo]3[7]s
[ BONO) CYCRCHCK_ECORCHC;
ONORO) ORORONORORORONO,
o} N0 oNoNONORORONONE)
ONORO)] ORONORONOX NONO),
®® o oR0N0X ROJCRONC)
® 6 0 JONONONONONO,
® ® ® GRCN NONONONON |
Q00 OJOJORORONON N0
® @@ " JoXoROROXCKORC)

Pleage get the signature of the Invigilator affixed in the space provided in the Answer She
Answer Sheet without the signature of the Invigilator is liable for invalidation.

Bbrgrd H|FEed” Seronoid ‘%Uﬁu@‘s $OgBEH0 (Invigilator) Gy, Hodind ol
BSd BEHEED DodEw S S|k’ SEDtondT o8 HOBOOHGBS. -
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WS/200 (3) ‘

8. To change an answer, erase completely the already darkened circle and use HB pencil to make
fresh mark.
B (@Rd Ddrerpnndy SrE)FooBed), aodd Hvod dodid Hydgiw (Circeid HrEm
SH& BoLID 5.0, DANSE (B HYoBHSR.

9. The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation.
o509 “DEDY (Rough Work) 2 md) 0B wdddsdy ddchivedy md dbrad H@wd
(Frobords. oy (T Ghroed H(Ehn H8R0oSHoar Goderds b Bobbilyb.

10. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.

Sbrgrdinei (DHDED Hhoetords. BV wBEDoDHT Spporr HoHBoSad.

11. Before leaving the examination hall, return the Answer Sheet to the Invigilator, failing which,
disciplinary action will be taken.

585 S BB Dyt Shrerd bEted e6E ab) S6gEEHE (nvigilater) GHREB.
T (KB B8 S8 swdd.
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(4)

Fill in the next number in the series : 5.

3.7, 16, 85,
(1) 39
(2) 80
(3) 70
(4) 74

Fill in the next number in the series : 6.

5, 15, 45, 136,
(1 9
(2) 15
(3) 405
(4) 675

Chalk and Blackboard are related in the |7.

same manner as

(1) Student and Books
(2) Ink and Paper

(3) Door and Handle
(4) Paint and Brush

Spot the odd number in the following :
d: B
b. 35

e. 27 8.

d. 49

(1) b
(2) a
3) ¢
(4) d

GS/280
Choose the number that will continue the
series :
242, 353, 464, 575,
(1) 676
(2) 686
(3) 696
(4) 787

Ten men can finish construction of a well
in eight days. How many men are needed
to finish the work in half-a-day ?

(1)~ 160 men
(2) 120 men
(3) 100 men
(4) 80 men

A man walks along a rectangle whose
perimeter is six km. If the area of the
rectangle is two sq. km, what is the
difference between the length anc
breadth of the rectangle ?

1

(1) Ekm

(2) 1km
1

(3) 15 km

(4) 2km

A one-rupee coin is placed on plain paper
How many coins of the same size can b
placed round it so that each one touche
the central and adjacent coins ?

1 3
(2) 4
3) 6
4) 7

https://www.freshersnow.com/



B’ Sdhard

EEns®  SHd

G3%§200
1. & (808
Hrdoddn :
2.7, 18580, 5
(1 39
(2) 80
3) 70
4) T4
2. & (Bod
Jroodw :
5, 15, 45, 1356, ____
(1 9
(2) 15
(3) 406
4) 675

wE Hbafy wrESE Dowodiwid, & |7

(Bo& &R dNE s ?

60
(2)
3

“4)

& |Sod
K80y :
a i1

b. 35

c. 27

d. 49

1) b

2) a

(3)
(4)

‘{gﬁﬁod? “Bok By

208 Hobon bHE

&6 ook Hgosd

owod Hook |[BR

S’

DD

(5)

Dowg |5,

Dowg

Dopg

& (Bon arddt,  (Hhbn  ediybor

Gothet BB Somghy I EwDY :
242, 353, 464, 575,

(1) 676

(2) 686

(3) 696

(4) 787

ol Fd Doeind 10 1.’:.305 8 wodt
Grodofced. & BB Hgﬁ‘;a)c‘i‘g
Srodomes Joss sHE 7

(1) 160 &od
(2) 120 508
(3) 100 dood
4) 80 Hod

ef  dg3 6 8D DpFod  Ho
S Prsrdin How Seodstdmmyd. 28
3, 6g SHY>ESH FTogie 2 $.8.,
wowds, Eg z‘SéaCS@‘S‘(‘SéJJ 53»52’, e,
Sbeonyo g Ko g Qod ?

m Lan

5

2 1 82,
1
5 ~ 8.
® 15 &
(4) 2 8.
o Srdrow omin  of 8ushdiwd
SodnasD. ©d Hodrmdw  Ho )
s@ves g SoEARd Lbod

Shs TEted  obHde, o) D
GoWSSey 7

1y 3
2) 4
3 6
(4) 7
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10.

11.

12.

(6)

A person covers the distance from P to Q
at the speed of three kmph. From Q to B,
he covers it at six kmph. What is the
average speed per hour ?

(1) 3-5 kmph
(2) 4 kmph
(3) 45 kmph
(4) 5 kmph

If PASSPORT is coded as RCUURQTV,
then how will BOOKLET be coded ?

(1) CQQMNFV
(2) CPPLMFU
(3) DRRNMGW
(4) DQQMNGV

Find the probability that in five tosses, a
coin shows heads at least 3 times in

succession.
3

(1) 0

(2] —

by =2

(4) B

The angle between the minute-hand and
the hour-hand, when the clock shows the
time as 7-30, is

(1)
(2)
(3)
(4)

35°
45°
30°
40°

14.

15.

GS/20(

In a class of 80 students only 20 went fo:
a summer camp organised as part of ths
school programme. What percent of thi
total class opted out ?

(1) 75
60
25

45

Spot the emotion that does not belong 1
the group :

(1) twinkling eyes

(2)

wrinkled nose

(8) straight forehead

(4) smiling lips

‘Special Education’ programmes are |

these target groups :

1)

industrious children
(2) genius men and women
retarded men and women

(3)

(4) handicapped children
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G&/200

9.

10.

12.

af g8 P &od Q HE% Ho drddod
Hobd 8 8.0, Jndws® k. Q wod P
$8% 6 3.2 Jrded JHd. condd,
Kot Jowhd Brdw Jod ?

(1) 2% Kow% 35 8.5,
2) ¥ fov% 4 8.
(3) o8 Kob% 45 8.5,

4) ¥ Hob% 5 8.0

24%3¢ PASSPORT & %088 Srddwd®
RCUURQTV m &rd5s, BOOKLET %
HoRS Srdin 28 7

(1) CQQMNFV

(2) CPPLMFU

(3) DRRNMGW

(1) DQQMNGV

2 B D b Sapes’,
shshy SE0m dard FH v Hnos
Ko Boprbgdh SHfbbs ?

| co

(L

-

3 B
2 s
@ 5
@ L
2
1
4 s
w

KBordin T30 Kobod Srd) Hdohind®
Ophdeeds, Hoved B éng:_}»t:%.) iucﬁs
St dod 7

(1) 35°
(2) 45°
(3) 30°
(4) 40°

7

14.

15.

28 sy Eotnd® grfing e Db
359 B0SEEH 2f S8KBSD 80 Hod
S')ar"sgaoéﬁ 20 %Hod dHr(SH I
sondd, Ewgdn MBS RDGLED
3%‘9’@&) T8 T o 7

(1 75
(2) 60
(3) 25
4) 45

& (208 IS prardd  Stourdrdnds
Do @ HbodHw

(1) e  ew¥ivide Kot  (twinkling
eyes)

(2) Sodden DAL ¥o¥y (wrinkled nose)
3) @é;lﬁ SHen (straight forehead)

(4} Dﬁ&é@sé‘séﬁ WS (smiling lips)
Dyhd
Léoéa“@é", )
Gownd ?

QdaséﬁS’
Do

SoYg|Sedodm, &
oFgtut

8] Lég o oo

2) (PBerHodhBd Do Etelev el

DrFon

(3) B wog¥iy Hdo Hdow Do

Hodrdon

(4) DEeroihBd wroop
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16.

17.

18.

19,

(8)

X has been caught red-handed in an [20.

office, looking into a file marked ‘Strictly
Confidential’. What will be his most
reasonable action in the situation ?

(1) To admit to the crime
(2) To offer a logical alibi

¥
(3) To stand rooted to the ground

(4) To feel embarrassed 21.

A man started walking from a point
towards South-West, After 5 m he turns
right at right-angles. After 10 m he again
turns right at right-angles. In what
direction is he finally walking ?

(1) South-East
(2) South-West
(3) North-East
(4) North-West

Y walks 16 km to the North, then 12 km
East, and 16 km South. How far is Y
from the starting point ?

(1) 12 km
(2) 16 km
(3) 28 km
(4) 44 km

Table has Wood as Coat has
(1) Wear

(2) Trouser

(3) Shirt

(4) Cloth

22,

23.

GS/20C
Body includes Limb as Tree includes
(1) Wood
(2) Branch

(3) Seed

(4) Soil

What comes next in the following letter
series :

BEI, DGK, FIM, HKO, . 7
(1) KMP
(2) JMQ
(3) JMN
(4) JMP

In 10 years A will be twice as old as B
was 10 years ago. If A is now 9 years
older than B, the present age of B is

(1) 19 years
(2) 29 years
(3) 39 years

(4) 49 years

A quantity is found to vary in the order
9, 16, 25, 36, 49. What will be the next
number in the order ?

(1) 57
(2) 64
(3) 68
(4) 61
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&8/200 (

16.

17.

18.

19,

28 sorgoolind’ Ediom HIDIY
(Strietly Confidential) ©d HoS80oB2dd
Poud Srdhe od SSy Fodydyd X
v I8 Swdod. @ Hivohdnst
0S8 o HEH VddE Wy B 7
(1) SEwds wohLBotoe
éd&ué@é @265@_’9
@B;)oiﬁm/@%é“&oimb
HruB Brdr Jowdé

(2) %QD
(3)

(1)  =mpyodne Evatatels 31

of @58 o8 To IH8 (eI IV
LS55 dedd. 2 Dddkwe
Srd HE FHdd HhEoins’ 800
Sth Ha dDdive SHhoed SEleind’
BoA%. OHSm xdsd D 3D (Podrdod
By ?

1) TE-&5 (wioho)

2) TEIY (F58)

8) o663 (Ssaidgam)

1) 637 (srokwdgin)

Y o dgd sgSiEY 16 8. SHhed
SronSH 12 80 SOy EEAFY
16 8.2, %63%. wobenddd dodw Hod
Y Qod Erdind® samdo ? ;

(1) 12 &.o%.

(2) 16 8.2v.

(3) 28 8.

(4) 44 8%,

Table, Wood 2 Z&Ac&)B, Coat o5
$ORadd 7

(1) Wear
(2) Trouser
(3) Shirt

(4) Cloth

9)

20.

21,

22.

23.

Body, Limb % £8Aokudyd. Tree A
£On0LI B

(1)
(2)
(3)

Wood
Branch
Seed

(4) Soil

& (80D wfd HEDHERENS' I8 Dl ?
BEL DGK, FIM, HKO, ____?

(1) KMP

)

(3)

(4)

JMQ
JMN
JMP

Ha (10)  SHSySawe scodes® A, B
10 Gobsydiuot Grdghndy Babinds
Bo&odenokbo. 83, adpd A
9 Doddytives B Sv) DG >@HT B
Eosin Boblny Jos ?

1) 19 Ddodeyddmen

(2) 29 JodsyEdww

(3) 39 Dod&ySdwen

(4) .49 boééaééﬁm

L& Hodrmdn 9, 16, 25, 36, 49 (Sodwds®
Do yBoB. & (Edins® Shard Dowg
28 7

1y 57

(2) 64

(3) 68

(4) 61
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24.

25.

26.

{10)

In a certain code RECESSION is written
as ERECSISNO. How is ECONOMICS
written in that code ?

CENOOIMSC
CEONOMISC
CENOOIMCS
NOCEOSCIM

)
(2)
(3)
(4)

If it was Monday on January 1, 2007,
what day was January 1, 2008 ?

(1)
(2)
(3)
4)

Sunday
Monday
Wednesday
Tuesday

Spot the odd figure in the following :

oy €
2) 4

(4) b

217.

28.

GS/200

Mark the right pair in the following
figure :

a.

1)
(2)
3)
(4) de

RERE g s

In the following figure, how many

squares can be spotted ?

(1) 8

(2) 12

4) 15
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&5/200

24.

25.

26.

28 Hods  Grddwd® RECESSION &
ERECSISNO m |arodbadds. & bo8e
Srdos®  ECONOMICS 9 O ddsdwor
@‘oﬁa}&éa ?

(1) CENOOIMSC

(2) CEONOMISC

(3) CENOOIMCS

(4) NOCEOSCIM

LESE 2550 1, 2007 dhoardhn wondS,
2550 1, 2008 O S vow wodin ?

(1) edHoTHw

(2) THoardiw

(3) engaedin

@) Holgardhin

& (808 RS Désdndy

HoBosydw :

P

OIS

@
&
s RO

{11)

27.

28.

& (808 DS’ HTH wdd Houn

a.

(1) bd
(2) ad
8y «od

(4) de

S (8ob Sevdwes® ), AL ST teRRIat
HBosdlyd ?

(1 8

(2) 12
(3) 14
(4) 15
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29,

30.

(12)

Mark the correct relationship between
the vertical and horizontal lines in the
following figure :

A
B C D
(1) AC =BD
(2) BD > AC
(3) BC = AC
(4) AC > BD

The correct symbol of the Swastika is

)
(2)
(3)

R R

(4)

31.

32.

33.

- |84,

35.

GS/200
The first India-Russia-China trilateral
business conference was held in
(1) New Delhi
2)
(3)
(4)

Moscow
Beijing

Guwahati

Ban Ki-Moon took over as United Nations
Secretary-General on

(1) July 1, 2006
(2) January 1, 2007
(3) July 1, 2008
(4) January 1, 2008

India’s communications satellite
INSAT-4B was launched from

(1) Thumba
(2
(3)
(4)

Baikonur
Sriharikota

French Guiana

The Central Salt and Marine Chemicals
Research Institute is situated in

1)
(2)
(3)
(4)

West Bengal
Orissa

Gujarat

Andhra Pradesh

The institute produced by the Uruguay
Round of talks is

(1) Multilateral Agreement on

Investment
(2)
(3)
(4)

International Trade Organisation
International Monetary Fund

World Trade Organisation
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G$/200
29. & (800 Sodnd® dend Do Sbde
Ade gy Ho  DBGLD Howoghnd
o
A
B C D
(1) AC=BD
(2) BC>AC
(3) BC=AC
(4) AC>BD

(1
(2)
(3)
(4)

e T ®

-8

(13)

31.

32.

33.

34.

35.

oS 0 zodokr - arg - B
s ed) agRrddy By @8RS

(1 &rg 3d

@ &Y

(3) Dol

4) T

S 85 wig oresg Dwd
(Eed-edEST BED wrggden RIS

1) =B 1, 2006 &od
(2 @&%0 1, 2007 20d
@) =B 1, 2008 &od
(4) «dH6 1, 2008 od

godolr Gy §§m~5§}§§15/a=g= FEogo
adpidts  aSPE4d s Hod
BEIrROSARe 7

(1 &ow

(2) BESE

3 Grege

(4) @)05 HHofroe

wolvd Y wod WIS SWES) 68y
aspargd adye o

(1 33 Jord

(2) =203

3 Huod

(4) wog |$TF

el Tob BEHos® Woyodudd S0P
(1) "‘aaécgmcéw’:z 2055355009 agé;)oésém
(2) eoég‘ﬂéoﬁi} aedag 009

(3) wodgrdodh ($dg IO

(4) (ddod aredeg DO
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36.

37,

38.

39.

40.

(14)

The announcement of the discovery of the [41.

10th Planet to orbit the Sun was made by
the astronomers of

(1) U.S.A.

(2) Russia

(3) France

(4) India

The capital of the Congo is 42,
(1) Accra

(2) Dili

(3) Bissau

(4) Brazzaville

The United Nations World Refugee Day

is 43.

(1) 21% May
) 20" June
3 19 July
4) 18" August

The Advanced Jet Trainer aircraft

recently inducted into the Indian Air |44

Force ig

(1) Jaguar

(2)  Gorshkov

(3) Mirage-2000
(4) Hawk-132

The film which won the Oscar award for
Best Film at the 80" Annual (Academy)
Awards is

(1) Elizabeth : The Golden Age
(2) The Bourne Ultimatum

(3) No Country for Old Men
(4) Michael Clayton

[

5.

GS/20(

The annual rate of inflation during July
2008 has hit a new high of 2:2 millior
percent in

(1) Sudan

(2) Nigeria
(3) Zambia
(4) Zimbabwe

The venue of the G-8 Summit held during
July, 2008 in Japan was

(1) Hokkaido
(2)- Osaka

(3) Kyoto

(4) Yokohama

India’s first Research Station in the
Arctic, ‘Himadri’ was inaugurated on

(1) April 20, 2008
(2) May 10, 2008
(3) dJune 2, 2008
(4) July 1, 2008

In Andhra Pradesh as on July, 2008 the
hamlet which has achieved 100 percent
literacy is

(1) Kukunoor, Khammam district
(2) Sovva, Visakhapatnam district
(3) Atmakur, Anantapur district

(4) Chevella, Ranga Reddy district

A Radio programme, ‘Vidya Tharangalu’
is being aired for the

(1) school students
(2) school teachers
(3) college and university students

(4) farmers
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36.

37.

38.

39.

40.

Grdgh  (HHBSt 106 (il
EREIHL (HESDS pifY méjﬁém o
BHtndd Bodd & ?

(1) ofw.aR..

(2}
(3)
(4 =mododr

sl oraeR
(1)
(2)
(3)
4)

(s
&9
a2
EERGT

még oresg Dabe d‘mézr (©doD -‘%tﬁmgm
o

{1, & 21

(2) &S 20

3 =~B 19

(4) w3 18

adde Drol Se¥in (a0dobS QEEY)
S8 (HIF DYwBS wergddd BE B9db
Jowb(srg 2B ?

(1) =6

@ REES

(3)  ore-2000

(4) &5-132

w96 wid, 805 Q& (wseE)
virshdhos’  TowhEd &add  Sod
RGN

1) HO=BSE : 8 Fos J&

@ 6 b oD

(3 & Lo b e drgd

() DPS spod

[15)

41.

42,

45.

amD 2008 & (EFgoye 0 DS
wodTr Srdd g‘on wond 22 LOHY
diud e85 d¥Ew

1) drees

@) 3ok

(3) =rodade

4) =zowrdg

=rSS°, @@, 2008 &, 28 Iporf
SHrdan 20AS K@w;’m

0 F5&

(2) adrs®

(3 &8st

4) GrEEsEr

0088 | osind® rine o DwES
a8 L) HoF S SoSdmd
| EoDowd Ber

(1) IS 20, 2008

(2) & 10, 2008

(3) ==& 2, 2008

(4) evS 1, 2008

wol§ (HBFS* =g 2008 o388 100 &R
oodgdd FPRODS (ki

(1) H&58Er, spé)&o 2o

2) e, ITpdino Agr

3) w&)Erd, vtodHio 2er

4) T3, dom B B

Dy doorme)’ @l Ta&Se 52 8g| S,
g (8oB F8S°, JH0 L (DS
B‘abz:céoiﬁaélﬁ ?

FETo Dmggom 3ei-V]
FEro werghHo E85%

(3) Eyearo o TV VI Dési)c:“gmo.ﬁ
Z)msg.w 8%

ég:éir’ol() oo Fi5H

(1
(2)

(4)
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The Kisan call centre telephone number [51. The local name of Mchenjodaro is
is
(1) Mound of the Great

(1) 1661

(2) 1515 (2) Mound of the Living
(3) 1441 (3) Mound of the Survivor
(4) -1551 (4) Mound of the Dead

During July, 2008 Shahab-3 missile has 52. Name the ruler of the Kushan dynasty.
been test-fired by (1) Kadphises I

(1) Pakistan
(2) Ugrasena

(2) Israel
(3) Team (3) Vikramaditya
(4) Iraq (4) Pushyamitra

In the Trust vote held on July 22, 2008 in 53. The title ‘Vikramaditya’ was assumed k

the Lok Sabha, the votes secured as| ' (1) Ashoka
‘AYES' and ‘NOES’ respectively were

(1) 257 and 252

(2) 275 and 256
(3) 279 and 257 (4) Chandragupta IT

(2) Kanishka
(3) Samudragupta

(4) 281 and 259
54. The great granary of the Harappa

Nepal's first elected President is civilisation has been found at

(1) Girija Prasad Koirala (1) Ropar

(2) Paramananda Jha (2) Harappa

(3) Dr. Ram Baran Yadav (3) Kalibangan
(4) Ramaraja Prasad Singh (4) Mohenjodaro

The ‘Bieils Nest  stadivm i at 55. When did Alexander invade India ?

(1) Athens (1) 327 BC
(2) Beijing (2) 303 BC
(3) Seoul (3) 302 BC
(4) Sydney (4) 298 BC
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46.

47.

48.

49.

50.

A8 506 woLd BOFS Sowd

1661
1515

(n
(2)
(3) 1441

(4) 1551

weg 2008 & sl

58630058
8PS

wb8sed

(1)
2 a@ys
@) =zo*s

4) o8

S8 L’ wmZ 22, 2008 R =0AD
/e oll HOES® (S Sind oD
AYES' dBofy ‘NOES' &4 Sowg

(1) 257 oo 252
(2) 275 &8o¥o 256
(3) 279 &wboky 257
(4) 281 Hdody 259
JarS oy
@d_ﬁsé:é)

o')é)l?méa’) SoogRocses
(1)
(2)
(3)
{4)

Aoer P8 Sovorer
$E5B0S S

@, ooH o8 oES
oiboore [HAE dohd

‘aby I w3 D Ko DAckHy ¢¥)O

(1) .QESQ«SS

@) Dzohst
(3) eSS
(4) ?o:%lcS's

17}

51.

52.

53.

54.

55.

([roBobimm Bwodrouard GhuE) rdiiw

(1) o8 «d & B
(2) o0& =d & Odoh
3) o0& wp & K::Egég
(4) ok wd & 36

SHymo maéoéé}eé‘&) oo DS 28 7
1) &1

@ subs

(3)
(4)  Hagd|d

DdErody v Hharoddid
(1) o5

(2) EJdod

(3)  Ddw|Ehd

() So|eeaayc-11

HENS 0SS FONEE gramgmdin
Aoyt Dobed eHd 8 7

(1) &H6

(@) &edary

(3) SdwokS

4) oo’

oBogrodd wobolrp &odb ofr|d Tode

(1) 327 ..
(2) 303 2.2.
(3) 302 D.2.
(4) 298 .2,
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56.

58.

59.

60.

(18)

At which of the following places has a
major Rock Edict of Ashoka been found ?

(1)
(2) Allahabad
(3)
(4) Delhi

Girnar

Barabar

Who were the immediate successors of
the Mauryas in Magadha ?

(1)
(2)
(3)
4)

Satavahanas
Kushans
Sungas

Pandyas

The remains of the Vijayanagar empire
can be found in

(1)
(2)
(3)
(4) Golconda

Bijapur
Hampi

Baroda

In the Third Battle of Panipat, the

Marathas were defeated by the
(1)
(2)
(3)
(4)

English

Ruhelas
Afghans
Mughals

Ramanuja preached
(1)
(2)
(3) gyan

(4) the Vedas

ahimsa

bhakti

61.

64.

65.

GS/20¢

The universal recipient blood group is
(1)
(2)
3) B
(4)

AB

The International Rice Research Institute
is based in

Nigeria
Mexico
(3) Australia

Philippines

Venous blood is carried to the lungs for
oxygenation by the

(1
(2)
(3)
(4)

pulmonary veins
pulmonary arteries
right ventricle

vena cava

Insufficient dietary iodine causes a/an

(1) giant

(2) cretin

(3) enlarged thyroid
(4) small thyroid

Agents that cause birth defects are
(1) teratogens
pathogens
mutagens

abortogens
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57.

58.

59.
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(18)

61.
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66.

67.

68.

69.

Sea animals which are used in making

(20)

jewellery are

(D
(2)

(3)

Sea fish
Algae
Corals

Zooids

The total number of ear bones are

(1)

(2)

(3)

(4)

The functional unit in Ecology is the

€V}
(2)
(3)

(4)

A drug used in the prevention and control

population
biosphere
organism

ecosystem

of malaria is

(1)
(2)
(3)
(4)

Heterozine
Chloroquine
Piperazine

Resoreinol

70.

71.

72.

The

study of structure

organisms is known as

(1)
(2)
(3)
(4)

The

(G 8}
(2)
(3)
4)

Anatomy
Cytology
Histology

Physiology

of

GS/26

livin

Nobel Prize 2007 winner f
Literature is

Albert Fert
Eric Maskin
Doris Lessing

Gerhard Ertl

The 14" SAARC Summit was hel
during

(D
(2)
(3)
(4)

5 — 6 March, 2007

3— 4 April, 2007

12 — 14 November, 2007

10 — 11 December, 2007

The number of member countries of tl
European Union is

(n
(2)

(8)

21

23

25
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66.

67.

68.
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71.
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(38) Emero wohgmw
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74.

75.

76.

1.

{229

The Mahatma Gandhi International
Award for Reconciliation and Peace, 2008
was conferred on

(1) Wangari Maathai

(2) Nelson Mandela
(3) Shyam Benegal

(4) John Banville

The Commonwealth Heads of
Government Meeting (CHOGM) is being
held once in

(1)

six months
(2) a year
(3) two years

(4) three years

The winner of the Wimbledon Women
Singles title 2008 is

(1) Venus Williams
(2) Serena Williams
(3)

(4)

Dinara Safina

Ana Ivanovic

D.L.F. Indian Premier League (L.P.L.)
title was won by

(1) Kolkata Knight Riders
(2)
(3)

(4)

Mumbai Indians
Chennai Super-Kings

Rajasthan Royals

78.

80.

81.

GS/2
The 19" Commonwealth Games 20

will be held at x

(1) London

(2) Sydney

(3) New Delhi

(4) Colombo

The champion of the ICC Cricket Wor
Cup 2007 is

(1) India
(2) Sri Lanka
(3) Australia

(4) England

The 95 Science Congress was held at
6h)
(2)
(3)
)

Hyderabad
Visakhapatnam
Kanpur

Tiruvananthapuram

The North European Gas Pipeline deal
between

(1) Germany and Russia
(2) Russia and Poland
(3)

(4)

France and Germany

Germany and Poland
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82,

83.

84.

85.

(24)

The Right to Information Act of 2005
replaces the old Freedom of Information
Act of

(1) 2000
(2) 2001
(3) 2002
(4) 2003

Brahmos, the supersonic cruise missile, is
jointly developed by India and

(1) France
(2) Russia

(3) US.A

(4) Germany

The dispute over Baglihar Project is
between India and
£1) Nepal

(2) China

(3) Bangladesh

(4) Pakistan

INS Beas, the guided missile frigate was
commissioned in

(1) Kolkata

(2) Paradip
(3) Mumbai

(4) Visakhapatnam

86.

87.

88.

89.

90,

GS/:

first mobile court %

inaugurated in
(1)
(2)
(8)
(4)

India’s

Alwar, Rajasthan
Chitrakoot, Uttar Pradesh
Mewat, Haryana
Anglong, Assam
The Chairman of 18 g
Commission is

(1) V.R. Krishna Iyer

(2) AR. Lakshmanan

(3) M.M. Punchi

(4) V.K. Duggal

the

India launched its first ever scient
expedition to the Arctic region on

(1) January 25, 2007
(2) April 20, 2007

(3) September 15, 2007
(4) August 3, 2007

The first winner of the ‘National W:
Award’ is

(1) Hem Dutta
(2)
@
(4)

Popat Pawar
Ram Mohan

Jaiprakash Jaiswal

The National Land Reforms Council
set up on

(1) April 16, 2007

(2) May 21, 2007

(3) October 29, 2007
(4) December 29, 2007
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82.

83.

84,

85.

Bhrord Sedn 2006 D & (308 &Rt
FETS D DosdySy JEred  Rgidy
SEp & wdermr Jobedda ?

(1) 2000
(2) 2001
(8) 2002

(4) 2003

e Ire¥ KL 8de, L_eao'.‘!"'saS &
SooEdumr  qodake, D sy Fshos
0 oD)E HESHESS 7

m (S

2 darg

@ .52,

(4) 28

A6 (SRE Daokins’, modosnss, O
S8’ Darcsier doi 7

W IS

@ po

(3) wordk

(1) 8IS

0aE DS S 2.8.R0  Hardv

AEIrRoLBHe
1) EStest
2) oeBd
@) dwoms®

(4) Dﬁ‘mb@mé»es“

(25)

86.

87.

88.

89.

90.

2030¥rS" DS Hoord g i
([Er8odonse

(1) eoexb, U“&}%‘Sﬁs

@) DBErS, 488 (PI5FS

(3) DE, Hoodrer St

@) ueSgrof, vyos®

or EBS 185 edghen
1) Qeb. (33 @0%:55
(@) Qeb ofes

B) 2.9 Hrod
4) 3. difd

godo¥r, ©0) &5 (DEFADL B B
TR0k Fird e (ool b
(1) =558 25, 2007

(2) QPS 20, 2007

(3) wyowb 15, 2007

@) a3, 2007

WY Fomr RS Tb v DFS
M S &8

2) 2o darb

@ o5 aHs

) Bps5 BaS

w8od rdoplne TS JomBs 48
(1) J®S 16, 2007

2 3 21, 2007

(3.) b 29, 2007

(4) &%o=6 29, 2007

https://www.freshersnow.com/



91.

92.

93.

94.

95.

(26)

Which was the
repaired in space ?

(1)
(2)
(3)
4)

first satellite to be

Challenger
Solar Marx
Discovery
Palapa

A photoelectric cell converts
(1)
(2)
(3)
4)

electrical energy into heat energy
light energy into sound energy
electrical energy into light energy

light energy into electrical energy

The colour of a star is an indicatidn of its
(1)
(2)
(3)
(4)

size
shape
temperature

distance

Infra-red rays were first detected by
(1)
(2)
(3)
(4)

Herschel
Rayleigh
Huygens

Maxwell

The intensity level of sound is measured
in

(1)
(2)
(3)

Hertz
Bel
Joules

(4) Angstrom

96.

98.

99.

GS/201

The material used for a fuse wire shoul
have
(1) low melting point
(2) high melting point
(3) high ductility

high resistivity

Radioactivity is a property of
1
(2)
(3)
(4)

X-rays
ultraviolet light
atomic nuclei

excited electronics

What is the source of electric energy
an artificial satellite ?

(1) A dynamo

(2) Solar cells
(3) A thermopile

4)

A mini nuclear reactor

The following is used as a lubricant

heavy machines :

(1) Sulphur

(2) Bauxite

(3) Graphite
(4) Phosphorus
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100.

101.

102.

103.

(28}

1 byte is equal to
(1) 2 bits
(2) 8 bits
(3) 16 bits
(4) 32 bits

The working principle of a washing
machine is

(1) Centrifugation

(2) Decantation

(3) Capillarity

(4) Diffusion

Which one of the following scholars
suggests the BEarth’s origin from gases
and dust particles ?

(1) H. Alfven

(2) 0. Schmid
(3) F. Hoyle

(4) James Jeans

Chemically, baking soda is
(1) baker’s yeast
(2) calcium phosphate
(3) sodium bicarbonate

(4) sodium chloride

105.

106.

107.

108.

GS/2

104. A gas which is mot present in norn

samples of air is
(1)
(2)
(3}
(4)

chlorine
neon
helium

carbon dioxide

The element nof present in fertilisers
(1)
(2)
(8)
4) .

phosphorus
nitrogen
hydrogen

chlorine

The boiling point of water, on the Ke
scale of temperature, is

1) 273
@) 378
(3) 100
4 212

The gas used for artificial ripenip
green fruit is

(1) ethane

(2) ethylene

(3) acetylene

(4) carbon dioxide

The Central Drug Research Institute
(1) Lucknow

(2) Bangalore

(3) Allahabad

(4) Hyderabad

https://www.freshersnow.com/



GS/200
100. &8 ‘BE, & (Bodords® HIE Lhedin ?
(1) 2 DENG
@ 8 DD
3) 16 DAY

(4) 32 z".)d%é',a

101.
wEssd H) Jod ?
(1) wdSo|HESmin
(2) s
(8)  wfDSyeadn

DD ez

102.
ToudHe wbod
ABHO ©Y HrdolSBES 7

1) 5. eI
@
(8) 5. o5

() &y &8y

103, Srobadanme, HobPa ¥

(1) &85y &g
(2) s Do é“fogd?
(3 FGobD Bs&IE

4) FaS 506

whed adhd abo(ddn J B Lr@HnR

& (808 =0¢°, 2 oIngy wdoyHin
ErPémeroing’

(29)

104,

105.

106.

107.

108.

Soug)  owEy Iedm - Shraed'

£DR0%0dd MO & ?
1) &85

(2) QS

3) &Ous&S

@) s8R Bo¥rsys

& (808 S, WHos® soddensodd
Horogin I8 ?

(1) @v@*gés
2) &=

(3)
(4)

T Eas
588

598 S Pudie, 06 08 SRS
From
(1)
@
6)
(4)

273
373
100
212

DU Dodon | @dedoorr éaééséémm
Jood sdairfod arohd

(1D BBS
(2) D@@S
@ DEOS
(@) 5835 dolrEys

oo (Eh 626y aShursd adnd ok
(1) o8y
(2) BoKdrs
(3) wolfrd

dorers

https://www.freshersnow.com/



109.

110.

112,

(30)
The substance coated on plastic [113.
tape-recorder tapes is
(1) magnesium oxide
(2) zinc oxide
(3) iron sulphate
(4) iron oxide
The commonly used medicine for typhoid

is
(1) a sulpha drug
chloromycetin

chloroquin

ascorbic acid

. In oil wells, oil, water and gas are

present in the following ascending order :
(1
(2)

gas, oil, water
oil, gas, water
(3) water, oil, gas
(4) water, gas, oil

The Indian Rice Research Institute is
located at

(1) Kolkata
(2) Cuttack
(3) Mumbai

New Delhi

114,

115.

116.

GS.

The substance that camrnot be fux
decomposed by chemical means is

silver

1)

(2) sugar

(3)

water

air

(4)

The first synthetically prepared org
compound was

(1)
(2)
(3)
(4)

methane
benzene
glucose

urea

Artificial silk is also known as
(1)
(2)

nylon
rayon
(3) dacron
(4) fibre glass

In sunlight, a rose appears red. In g
light, the same rose appears

(1) Black
(2) Yellow
(3) Green
(4) Red
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117.

118.

119.

120.

(32)

The numerous minute pores in the
epidermis of a leaf are called

(1) stomata
(2) lenticels
(3) hydathodes

(4) perforation

Which of the following is most important
for the growth of children upto the age of
14 ?

(1) Fats
(2) Milk
(3) Vitaming

(4) Proteins

The transport of organic substances in
plants is through

(1) xylem

(2) phloem
(3) fibres

(4) wood

The National Bureau of Plant Genetic
Resources is at

(1) Jammu
(2) Shillong
(8) New Delhi

(4) Bangalore

121.

122,

123.

124.

GS/.

In which year did Bankim Chan
Chattopadhyay write Arandmath ?

(1) 1882
(2) 1885
(3) 1892

(4) 1895

The formation of an Interim Governn
set up on September 2, 1946 was I
envisaged by

(1) Simon Commission
(2) Cripps Mission
(3) Wavell Plan

(4) Cabinet Mission Plan

The Muhammedan Anglo-Orie
Defence Association (1893) was sta
by

(1) Badruddin Tyabji
(2) T. Beck
(3) A.S. Samuelson

(4) Syed Ahmed Khan

Hunter Commission® was appointec
the British to probe into the

(1) Chauri-Chaura incident
(2) Bardoli Satyagraha
(3) Jallianwala Bagh tragedy

(4) Khilafat agitation
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125.

126.

127.

128.

(34)

On September 20, 1932 Mahatma Gandhi
began a fast unto death in Yervada Jail
against

Communal Award of Ramsay

MacDonald

(1)

(2) British repression of the satyagrahis

(3) Violation of the Gandhi-Irwin Pact

(4) Communal riots in Calcutta

On the Direct Action Day unprecedented
bloodshed took place as a result of
Hindu-Muslim riots in

(1)
(2)
(3)
(4)

Delhi
Bombay
Dhaka

Calcutta

Mahadev Govind Ranade was a member
of the

(1) Arya Samayj
(2) Prarthana Samaj

(3)
4)

India League

Theosophical Society

The Governor-General of India who
proposed the change of capital from
Calcutta to Delhi was

(1) Lord Hastings

(2) Lord Canning

(3) Lord Hardinge II

(4)

Lord Curzon

129.

130.

131.

132.

GS/2
Which of the following class
participated the least in the Indi

National Movement ?

(n

Princes of states
(2) Government officials
(3)

Peasants

(4) Capitalists

Who of the following nationalist lead
has been referred to as ‘Lokhitwadi’ ?

(1) Lala Lajpat Rai
(2)
(3)

(4)

Vishnu Krishna Chiplunkar
Gopal Hari Deshmukh

Motilal Nehru

Who set up the famous ‘Bengal Chemi
Swadeshi Stores’ during the Swade
Movement ?

(1) P.C. Roy

(2) Anandamchan Bose

(3) Ashwini Kumar Dutt

(4) Rabindra Nath Tagore

The first Satyagraha campaign
Gandhiji was started in

(1) Bardoli

(2) Baroda

(3) Dandi

(4) Champaran
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133.

134.

135.

136.

137.

(36)

Who has been referred to as  the

‘conscience-keeper’ of Gandhiji ?
(1)
(2)
(3)
(4)

C. Rajagopalachari
G.K. Gokhale

Lala Lajpat Rai
Madan Mohan Malviya

Stafford Cripps was a member of the
(1)
(2)
(3)
@

Conservative Party
Liberal Party
Labour Party
Official hierarchy

The Governor-General of India who
initiated the introduction of English in
India was

(@]
(2)
(3)
(4)

Lord Hastings
Lord Bentinck
Lord Curzon

Lord Ripon

The instrument used for measuring
humidity is

(1)
(2)
(3)
(4)

Thermometer
Barometer
Hydrometer

Hygrometer

Blizzards are characteristic of
)]
(2)
(3)
(4)

Temperate region
Antarctic region
Equatorial region

Tropical region

138.

139.

140.

141.

GS/2(

An upper air wind system with very hi

velocities in certain parts of t

atmosphere is called -
(1)
(2)
(3)
(4)

a jet stream
a cyclone
an anticyclone

monsoon

Rainfall caused due to the presence

rmountains in the way of winds is calle

(1) cyclonic rain

(2) advectional rain
(8) orographic rain
(4) conventional rain

Plains formed due to the filling up
lakes are called

(1)
(2)
(3)
(4)

peneplains
alluvial plains
flood plains

karst plains

To which group does the black cotton :
of India belong ? ’

(1) Alluvial

(2) Laterite
(3) Podzol

(4) Chernozem
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142. The name given to native
Indians is

(1)
(2) Alpine
(3)
(4)

Amerinds

Bushman

Mestizoes

143.
is
(1) Sudan

(2) China

(3) USA.

(4) India
144. India is a leading producer of
(1
(2)
(3)
(4) meat

cheese
butter and ghee
pork

145, Tron is obtained mostly from
(1)
(2)
(3)

4)

siderites
iron pyrites
magnetite

haematite

146.

Tropic of Cancer passes is
(1) Bihar
(2)  Jharkhand
(3) Himachal Pradesh

Jammu and Kashmir

(4)

The largest producer of long staple cotton

One of the States through which the

(38)

American

147.

148.

149.

150.

Gt

Which part of the islands in the Ar
Sea is known as Minicoy Islands ?

(1
(2)

Eastern
Western
(8) Northern
(4) Southern

Where can one expect dry wint
India ?

(1) Bengal plains
(2) Tamil Nadu
(3) Jammu and Kashmir
(4) Punjab and Haryana plains

Which soil swells when wet and d
cracks when dry ?

(1) Alluvial
(2)

(3)

Laterite
Black
(4) Red

Aluminium usually occurs in the i

(1) pyrite

(2) bauxite
ilmenite

(3)

(4) pure metal
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